== A
N = 0 & AF S 99 N A
20188 = 20l A LBHSH AL =X Dt
A AMIEX
B Fo)s 25 L X
¢ FUSI MHIAAY (9 ® =)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
ALS S X 102,427,086 86,556,656 15,870,430
= 71,506,424
Al 26,422,898
- 4,497,764
FAH=Es E5 ¢ XA 3,805,145 2,570,905 1,234,240
= 433,500
Al 2,585,160
- 786,485
FO0I=2X AHIAANY 3,805,145 2,570,905 1,234,240
= 433,500
Al 2,585,160
- 786,485
X ALS X 558,250 5,250 553,000
201 et 9| 21,250 5,250 16,000
01 AP 2t 2] d| 12,250 5,250 7,000
OXYAMIIBEEEOAXM 30 ALY 7,000
—-HE(AR)E2AAM 3o A&
70,000 *25% x4 3| 7,000
OXYAISI X HE X L2t 25 0002 x508 1,250
OME=SX A AFAA OJT & Al 3,000
O=EXess g8 M2 1,000
03 A2 A H| 9,000 0 9,000
O=X s Ml 9,000
203 ¥ 2 =&H| 2,000 0 2,000
03 Al 2 =& 2 = X H| 2,000 0 2,000
OZXJ|Et2=s &4d3t 2,000
207 A I & 35,000 0 35,000
01 Y| 35,000 0 35,000
OXNGMIAEXNHE LS RS FUEX], XS
A AR ESH| 35,000
702 12852 500,000 0 500,000
o1 01282 500,000 0 500,000
OAZE2X2I2 852 500,000
SN2 A EE 6,000 6,000 0
201 2Et24A Y| 6,000 6,000 0
01 AP 22| d| 6,000 6,000 0
O=Xa& /3as MAl 6,000
BEAY 818,800 863,450 AN44 650
Al 780,000
- 38,800
201 et d| 3,050 350 2,700
02 E22%H| 2,000 0 2,000
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2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
ESHSAY AglEHHESdES XA 96,500 96,500 0
307 gl2tol & 96,500 96,500 0
02 It M AHE L 62,700 62,700 0
OE&stHH SAESA S| 62,700
03 QIAHMNHE2IHIEE 33,800 33,800 0
Ot s2gs=234l 33,800
MISXNHREX AZSRLEI SAlH| 36,000 30,240 5,760
Al 18,000
- 18,000
301 et A=z 36,000 30,240 5,760
Al 18,000
- 18,000
0B ARSI EERAB NS 36,000 30,240 5,760
OAIZSXNEREX AMIISRRA SAH| 36,000
Al 18,000
T 18,000
A3 =X 22 FHl 1,172,780 1,114,000 58,780
Al 1,172,780
307 glz2+ol & 1,172,780 1,114,000 58,780
Al 1,172,780
10 AL SXAIEEE 2 H EX 1,172,780 1,114,000 58,780
OAMalEX& 29l 1,172,780
- IPEE M= 623,390
Al 623,390
-—gZ2EEAMISA 2 549,390
Al 549,390
SEIAESEAMET Z22Y 25,000 19,000 6,000
307 glz2tol & 25,000 18,000 7,000
10 ALSISXAIEEE 22X 25,000 18,000 7,000
Oz sgAz=sla 22 29l 25,000
JI=ZEYIXA 55,300 55,300 0
Al 53,000
- 2,300
307 21201 A 55,300 55,300 0
Al 53,000
- 2,300
10 ALSISXAIEEE2IHEX 55,300 55,300 0
OJI=ZE%3 294 A& 4,300
Al 3,000
T 1,300
OZCE0r 24l X 51,000
Al 50,000
- 1,000
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SN ALSI S X
B Fo)s 25 L X
& FUSX MHIAAY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
—oEEs gesd 3,000
~FOMEXE AREA 1,000
M2AZSRHE XA 433,500 0 433,500
= 433,500
301 LA Z 433,500 0 433,500
= 433,500
0B A =R RAB A4S 433,500 0 433,500
OMI=RRR B & 433,500
= 433,500
ALE sME BF 83,624,373 69,836,911 13,787,462
= 62,540,414
Al 17,535,521
- 3,548,438
Lo =8 83,545,173 69,749,791 13,795,382
= 62,540,414
Al 17,519,681
T 3,485,078
LOESNEM HRFX 1,000 1,000 0
203 YR =&l 1,000 1,000 0
03 AIHF=XH R =AY 1,000 1,000 0
OLo=XEY fRE 1,000
MAZ0H () 782,723 921,889 A 139,166
= 704,450
Al 78,273
307 glz2+ol & 782,723 921,889 A 139, 166
2 704,450
Al 78,273
10 ALSISXAIEEE2EH EX 782,723 921,889 A 139,166
OLe=XAIE A=A 782,723
= 704,450
Al 78,273
2Z AL 23H X 910,369 953,670 A 43,301
= 637,259
Al 273,110
307 21201 A 910,369 953,670 243,301
2 637,259
Al 273,110
10 ALSISXAIEEER2IHEX 910,369 953,670 A 43,301
O 2ZAE 24l 910,369
= 637,259
Al 273,110
LZANE SAML 2X=E X2 21,600 20,400 1,200
Al 21,600
307 glz2tol & 21,600 20,400 1,200




M AR =X
M AYS LEME B
el ol =XEE (S &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al 21,600
10 M SXNANEEHE2IHE=x 21,600 20,400 1,200
OLZAE SAMHKN =X 21,600
Al 21,600
A2 AL Or2tZHleld olAdl XI& 38,400 38,400 0
Al 38,400
307 21201 A 38,400 38,400 0
Al 38,400
10 ALSISXAIEEE2IHEX 38,400 38,400 0
OS2 AL Oorz2tAbHIelsE oA 38,400
Al 38,400
LoI=EX2 244 XN 560,507 573,823 A 13,316
Al 392,355
- 168,152
307 gl2tol & 560,507 573,823 213,316
Al 392,355
- 168,152
10 M3 SXNANEHI2IHEX 560,507 573,823 A 13,316
oke=sxa 244l 560,507
Al 392,355
T 168,152
Lo=EX2 BAXN SHEEN X2 15,680 21,900 N6,220
Al 15,680
307 212+0| & 15,680 21,900 A6,220
Al 15,680
10 M EXNANEHE2IHE=X 15,680 21,900 A6,220
OLosX2 SAML SHEEN 15,680
Al 15,680
Fet @ =LA g=d XA 57,349 49,276 8,073
Al 57,349
307 21201 A 57,349 49,276 8,073
Al 57,349
02 UAFAAFEE 57,349 49,276 8,073
O3 FUZAIY &=l 57,349
Al 57,349
LQAAE STt NE 514,000 615,006 A 101,006
Al 514,000
307 gl2tol & 514,000 615,006 A 101,006
Al 514,000
10 M3 SXNANEHI2IHEX 514,000 615,006 A 101,006
OLeAANE S2A=It XA 514,000
Al 514,000
LOIRAAE SALN EXN+E 280,520 304,560 A 24,040
Al 280,520




SN ALSI S X
M AYS LEME B
©el: Lol XS CERED
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 280,520 304,560 A 24,040
Al 280,520
10 AL SXAIEEE2EHEX 280,520 304,560 A 24,040
OL QALY BAX E2EX==E 280,520
Al 280,520
d2Y 294l KNI (BZAY) 259,700 252,100 7,600
Al 207,760
T 51,940
307 glz2+ol & 259,700 252,100 7,600
Al 207,760
T 51,940
10 ALSISXAIEEE2EHEX 259,700 252,100 7,600
OZz€ 244 XN& 259,700
Al 207,760
- 51,940
429 294 N2 (MMAILD) 110,940 114,660 23,720
307 21201 A 110,940 113,460 A 2,520
06 2= 900 900 0
OZ2Y Zofitha MAESE XNIIRE=S
100, 000& »9A 900
10 M2 SXNANEHE2IHEX 110,040 112,560 A 2,520
OZ2% 29d XA 110,040
2B IRY A= 6,550 6,700 A 150
Al 3,275
- 3,275
301 gt L= 6,550 6,700 A 150
Al 3,275
- 3,275
01 MEI2EZE 06z 6,550 6,700 A 150
Oz 324 A= 6,550
Al 3,275
- 3,275
Z2Y =slZ= 08 22| X X At 33,942 27,553 6,389
Al 16,971
T 16,971
307 glz2+0l & 33,942 27,553 6,389
Al 16,971
T 16,971
11T MISXASEX 33,942 27,553 6,389
OZ2Y &3 Z2 0 22|t Xl 33,942
Al 16,971
- 16,971
Z2Y 243 T8 Mg 20,000 20,000 0
Al 20,000




2AM: M=KD
Hu: AUE LEME P
e Lol EXsX (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
307 QI2t0| & 20,000 20,000 0
Al 20,000
11 AMIASXAEE X 20,000 20,000 0
OZ2Y 2483 T2 )8 AtY 20,000
Al 20,000
MOt =S X AE 29 X3 320,240 306,832 13,408
Al 320,240
307 QI2t0| & 320,240 306,832 13,408
Al 320,240
10 Al SEXAIEEE2IHIBX 320,240 306,832 13,408
OMIMIL=XAE 29H| A& 320,240
Al 320,240
LOIFOItESHEH 29 X 145,050 125,340 19,710
Al 145,050
307 212t0| & 145,050 125,340 19,710
Al 145,050
10 AIRISEXAIEHE2IGHIEX 145,050 125,340 19,710
OLoFOIAESHEH 224 XA 145,050
Al 145,050
D G DNE=, 72,477,061 59, 150,505 13,326,556
= 57,981,649
Al 11,596,330
- 2,899,082
301 Bt A= 72,477,061 59, 150,505 13,326,556
= 57,981,649
Al 11,596,330
- 2,899,082
01 M BEEELG2 72,477,061 59, 150,505 13,326,556
OJI=d2X3 72,477,061
= 57,981,649
Al 11,596,330
- 2,899,082
COIESIESAMUBIAAIS XA 500,512 365,901 134,611
= 350,390
Al 150,122
307 212t0| & 500,512 365,901 134,611
- 350,390
Al 150,122
11 A SXAAEE X 500,512 365,901 134,611
OLo=sSI)IEAMHEAAS XA 500,512
= 350,390
Al 150,122
LOSEEENHA HHER 630,843 505,803 125,040
= 441,590
Al 189,253




SN ALSI S X
Hu: AUE LEME P
Sl ol 2N S EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 630,843 505,803 125,040
= 441,590
Al 189,253
11T M SXASE EX 630,843 505,803 125,040
OLo=S=SEEMEBIAAS XA 630,843
= 441,590
Al 189,253
SHOIJFAFA Bl A SHOLE X 2,635 3,547 AQ912
2 1,844
Al 791
307 glz2+ol & 2,635 3,547 A912
= 1,844
Al 791
11T MISAASER 2,635 3,547 AQ912
OEINIIMALMHI AALS KT & 2,635
2 1,844
Al 791
SNko SN S=HdLMHIA 2R ( 24,200 20,112 4,088
elzitl)
= 12,100
Al 12,100
307 glz2tol & 24,200 20,112 4,088
= 12,100
Al 12,100
11T MISXASEX 24,200 20,112 4,088
Ok SSTe SSHdLHAMEA 2
AXJ(AHl) 24,200
= 12,100
Al 12,100
SEAL ST SSAHELB ML XA 3,360 6,984 N 3,624
JlZ2gl)
= 1,680
Al 1,680
307 21201 A 3,360 6,984 A 3,624
= 1,680
Al 1,680
11T AL SXAEE X 3,360 6,984 A 3,624
O=HEo =SZHMHL S LML 2
g OI2=224l) 3,360
= 1,680
Al 1,680
SNko S S=tdLMHIA 2R ( 11,888 6,100 5,788
ZHl sS4t ¥ FAESHE)
= 5,944
Al 5,944
307 glz2tol & 11,888 6,100 5,788
2 5,944




SN ALSI S X
M AYS LEME B
Sl ol 2N S CERED
SA - BB B () - MM - BES Ol &t o San HmEET
Al 5,944
11T MISXASEX 11,888 6,100 5,788
O=AHke SSTM SSHdLHAHA 2
XA (ZHSAH & RAEHE) 11,888
= 5,944
Al 5,944
FOUELANN BEEXNE= N 183,800 140,900 42,900
Al 183,800
301 g2 4= 183,800 140,900 42,900
Al 183,800
01 MEI2EZE 406z 183,800 140,900 42,900
ORggolMl EXE3 X3 183,800
Al 183,800
2232 55 70,000 500,000 A 430,000
405 TtabF S| 70,000 0 70,000
01 AL ESFHSHI 70,000 0 70,000
OZZ23& ARIII s 7¢ 70,000
2 |RNE=S 80,000 55,000 25,000
401 AIEBIZ 201 8I 80,000 55,000 25,000
01 A& Bl 80,000 55,000 25,000
OZ2% FAE =4l 60,000
OUMX g NS 20,000
Z2Y S3ME A 23,200 23,200 0
Al 11,600
- 11,600
401 Al B2 2B 23,200 23,200 0
Al 11,600
T 11,600
01 A& HI 23,200 23,200 0
OZ2E S3MH A 23,200
Al 11,600
- 11,600
HEEH MOt Ql AABE 52,675 48,562 4,113
Al 52,675
307 21201 A 52,675 48,562 4,113
Al 52,675
11 ALS S XALEE = 52,675 48,562 4,113
OHS=HE MMt AAHE 52,675
Al 52,675
dZAY R HNAMG(EX) 220,496 225,953 Nb5,457
Al 220,496
307 glz2tol & 220,496 225,953 Nb5,457
Al 220,496




M AR =X
M AYS LEME B
el ol =XEE (S &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
11 AISI S XA E = 220,496 225,953 Nb5,457
ozzad KA 220,496
Al 220,496
dZ2AY L2 AAY (XA 9,000 6,000 3,000
201 L2l 7,000 5,000 2,000
01 At 22l 1,000 1,000 0
OZZ2AlE 24| 1,000
02 3323l 6,000 4,000 2,000
OZZ2AE ANERA & E= 6,000
405 RHoHE S HI 2,000 1,000 1,000
01 AL EZFH S 2,000 1,000 1,000
OoZzAg I+ 2,000
Lolwal 23l 36,000 36,000 0
Al 36,000
307 21201 A 36,000 36,000 0
Al 36,000
10 ALSISXAIEEE2IHEX 36,000 36,000 0
OQna 23H XI& 36,000
Al 36,000
AMLUNWEYE 22 259,776 241,990 17,786
Al 220,801
- 38,975
307 glz2tol & 259,776 241,990 17,786
Al 220,801
- 38,975
10 M2 SXNANEHISIHES 259,776 241,990 17,786
OAUONZ2Y 298 XA 259,776
Al 220,801
T 38,975
LolgRtel Y AtslEsXH & 4,735,054 3,050, 130 1,684,924
= 2,367,528
Al 2,367,526
307 2I2t0l A 3,997,321 2,546,218 1,451,103
= 1,998,661
Al 1,998,660
11 AISI S XA E = 3,997,321 2,546,218 1,451,103
O=olgiiel ¥ Atsl&s AHl X & 3,997,321
= 1,998,661
Al 1,998,660
401 AIEBIZ 28I 737,733 503,912 233,821
= 368,867
Al 368,866
01 A& HI 737,733 503,912 233,821




SN ALSI S X
M AYS LEME B
©el: Lol XS CERED
SA - BB B () - MM - BES Ol &t o San HmEET
OLolgditel & AtSIES At 737,733
= 368,867
Al 368,866
LOoI=RIAE AtslEHMEBdas NR 24,143 21,051 3,092
307 21201 A 24,143 21,051 3,092
02 HAFAANFEX 14,143 14,143 0
OLQEN SAEs AL 10,943
OZ2EE Lowsd FItusH| 3,200
03 QIAHMNHE2IHIEE 6,000 2,908 3,092
OkeltH sd&s 24| 6,000
04 DIZHHALALSE E X 4,000 4,000 0
okoldax=stial &2t XA 4,000
COQAANLEHE(IIsELZ)AY 71,960 988,944 A 916,984
= 35,980
Al 35,980
402 RI2FX=201 M 71,960 988,944 A 916,984
= 35,980
Al 35,980
02 QI EAILEZ (01X E) 71,960 988,944 A 916,984
OME It ==X D2 HHEZ 71,960
2 35,980
Al 35,980
LOIFOIIESHE(HIIES) 2Hl X 50,000 0 50,000
Al 50,000
307 21201 A 50,000 0 50,000
Al 50,000
10 ALSISXAIEEE2GHEX 50,000 0 50,000
O o0t (H#IIEs) 22H X 50,000
Al 50,000
X 2 AbS| = X 01 I 2} 24 3t 79,200 87,120 AT7,920
Al 15,840
- 63,360
MISXAIE M= SAH| 79,200 87,120 27,920
Al 15,840
T 63,360
301 LA Z 79,200 87,120 AT,920
Al 15,840
- 63,360
0B MEIERRAEH= 79,200 87,120 27,920
OMISRNAE AMIIERA S4H 79,200
Al 15,840
T 63,360
ZOoHelol ao & et 14,910,924 14,065, 154 845,770
= 8,532,510




2N
X ZH -
L= B

el

NEE
ZOHQIOl &rol B a4

ZOHOl HASA

=

SN EB S (3H) - NEAY - BES ofl &k o San HDE2

Al 6,302,217
- 76,197

Zofel HASK 14,910,924 14,065, 154 845,770
= 8,532,510
Al 6,302,217
- 76,197

MASO (HOfOL) 214,444 220,444 A 6,000
= 193,000
Al 21,444

301 et A= 214,444 220,444 A 6,000
= 193,000
Al 21,444

01 M BEEESG2 214,444 220,444 A 6,000
OHOMAHF=AALE MH=N 214,444
= 193,000
Al 21,444

HOHQUNEAL 2LXA(SE) 2,237,305 2,181,628 55,677
= 1,566,113
Al 671,192

307 QI2t0| ™ 2,237,305 2,181,628 55,677
= 1,566,113
Al 671,192

10 Al SEXAIEEE2IHIBX 2,237,305 2,181,628 55,677
O&OMAHFAIE HAI2AH| 2,095,959
= 1,467,171
Al 628,788
O&OMAHFAIAE 2elS2FH| 141,346
= 98,942
Al 42,404

ORI HFAIE AIHIXI&A 69,087 67,531 1,556
Al 69,087

307 QI2t0| & 69,087 67,531 1,556
Al 69,087

10 Al SEXAIEEE2IHIEX 69,087 67,531 1,556
OHMHAHFAIE SAMX SX+Y 62,840
Al 62,840
O&MAHFAE BSZEH L ZHRAHI 1,184
Al 1,184
OHOAHF=AIL EHOjOIolY 2HAH| 459
Al 459
O&OMAHFAIAE HE0lY 2tAHI 274
Al 274
OHOMAHF=AIAL O 2AFH| 3,330
Al 3,330
O&OMAHFAIE LA2LSH| 1,000
Al 1,000




2AM: M=KD
M mojolol MOl B s
S Zoe HASA (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
ZOHQ XIEEol 22 AR ALY X3 22,562 21,000 1,562
Al 22,562
307 QI2t0| & 22,562 21,000 1,562
Al 22,562
11T A EXAIEE X 22,562 21,000 1,562
O&Oel Xggol 2 XAE ALY X 22,562
Al 22,562
ORI A EANE S IR 514,192 470,324 43,868
Al 514,192
307 QI2t01 ™ 514,192 470,324 43,868
Al 514,192
10 AR SXAIEEE2IHIEX 514,192 470,324 43,868
OZOUXATHE Al L A ROI24H]| 425,122
Al 425,122
OZOMAMAME AL 22 2| 39,070
Al 39,070
O 2z HNYERLE Rassd 29 & 50,000
Al 50,000
ZONQIRQTHEAIL WO OHOl SAH X2 41,400 40,176 1,204
Al 41,400
307 212t0| & 41,400 40,176 1,224
Al 41,400
10 AIRIEXAIEEHE2IHIBEX 41,400 40,176 1,224
OZOHAXATHE THOIEOHQI ZSAH X & 41,400
Al 41,400
Zojel=sXa 2SI 889,552 812,505 77,047
Al 889,552
307 212t0| & 889,552 812,505 77,047
Al 889,552
10 Al SXNAIEEE2IHIEX 889,552 812,505 77,047
ORI =X B & 20l 804,552
Al 804,552
OXFO=EA 2 22 2dH| 85,000
Al 85,000
A EMR EAH S K& 5,000 4,000 1,000
= 3,500
Al 1,500
301 LprE a3 5,000 4,000 1,000
= 3.500
Al 1,500
01 A3 B & X 435 2 5,000 4,000 1,000
Od &R SAtHIES K& 5,000
= 3,500
Al 1,500




D AEIE XD
=YV LIE-TRPNE-TRE I3

= oo

LB AABH

=

K- ZE SR (3) - HRAY - BaS il Bl RE2
HRI=2tESAE 2 154,897 147,721 7,176
Al 154,897
307 gl2tol & 154,897 147,721 7,176
Al 154,897
10 AL SXNAIEEE2EH EX 154,897 147,721 7,176
OFHOMI=2AESAIE 2l AH| 130,897,000& 130,897
Al 130,897
O&EMA=2AESAIE 22 2g|
24.,000,000& 24,000
Al 24,000
FHUSSHEIE 2EXA 110,344 105,992 4,352
Al 110,344
307 glz2tol & 110,344 105,992 4,352
Al 110,344
10 ALSISXAIEEE2EH EX 110,344 105,992 4,352
OZMASSHUEIIE Q24| 86,344
Al 86,344
OZMZSSHEIE 2223 | 24,000
Al 24,000
=ty 2N 146,350 138,985 7,365
Al 146,350
307 glz2tol & 146,350 138,985 7,365
Al 146,350
10 AL SXAIEEE2EH EX 146,350 138,985 7,365
O=stEsgdy el 134,350
Al 134,350
O=3s94H 2el23dl 12,000
Al 12,000
StUA2HEE L X2 2,000 2,000 0
307 21201 A 2,000 2,000 0
11T ALSI S XAEE = 2,000 2,000 0
O=stnad2aads X 2,000
SSHMHQ XEHMBHEHIH 60,000 50,000 10,000
Al 60,000
307 glz2tol & 60,000 50,000 10,000
Al 60,000
10 ALl SXAIEEHE 2 H EX 60,000 50,000 10,000
OSSTHMHAXNSHEHH X 60,000
Al 60,000
I+ u= 10,113 10,113 0
= 8,090
T 2,023
301 et a = 10,113 10,113 0




2N
CEoHelel 4
o A

X ZH
S =

el

Akl = X1 ot

o Lo
>

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

= 8,090
T 2,023

01 ALl EE E 563 10,113 10,113 0
O&FMHUEXI | WFALY 10,113
= 8,090
- 2,023

ZOHAUEE R =2lAtY 105,620 105,220 400
Al 105,620

307 21201 A 105,620 105,220 400
Al 105,620

1A S XA E X 105,620 105,220 400
OFMHAZEF =clAte XI& 105,620
Al 105,620

ZOH=SXRALE AtslEZBdas XA 13,000 13,000 0

307 gl2tol & 13,000 13,000 0

02 IZtA M AIHE L 13,000 13,000 0
OFHUEH SU&s AtH XA 13,000

oo EsSXd30 N (EX) 3,782,344 3,466,632 315,712
= 2,647,641
Al 1,134,703

307 glz2tol & 3,782,344 3,466,632 315,712
= 2,647,641
Al 1,134,703

11T AISI S XA E = 3,782,344 3,466,632 315,712
OFelas XA 3,782,344
= 2,647,641
Al 1,134,703

ZOoHoIES XIJAAY AlHIZ=Ot 217,325 203,040 14,285
Al 217,325

307 21201 A 217,325 203,040 14,285
Al 217,325

1A S XA E X 217,325 203,040 14,285
OFeIEs XIJAR AlHlI=It 217,325
Al 217,325

ZoelEs XJAAY Ao 2,380 2,940 A 560

201 Let249] 2,380 2,940 A 560

01 At 22l 2,380 2,940 A 560
OFHESKNH &ARAA = 2,380

HETHEAH A HIRH K& 559,578 595,564 A 35,986
= 391,705
Al 167,873

307 glz2tol & 559,578 595,564 A 35,986
= 391,705




2N
X ZH -
L= B

el

NEE
ZOHQIOl &rol B a4

ZOHOl HASA

=

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

Al 167,873

11T MISXASEX 559,578 595,564 A 35,986
OZLHEMHI A 559,578
= 391,705
Al 167,873

HHLEXH B2™ XI& 2,000 10,803 A 8,803
2 1,400
Al 600

307 21201 A 2,000 10,803 A 8,803
= 1,400
Al 600

11T AR SXAIEE = 2,000 10,803 A 8,803
OgEEra 2,000
2 1,400
Al 600

332240 2348 XN 3,300 3,000 300
= 2,640
Al 660

307 glz2tol & 3,300 3,000 300
= 2,640
Al 660

11T M SXALSE EX 3,300 3,000 300
O33=d HEXA 3,300
= 2,640
Al 660

LI 2R 4R 740 5,760 A5,020
=2 519
Al 221

307 glz2+ol & 740 5,760 A5,020
= 519
Al 221

11T MISXASEX 740 5,760 A5,020
OLgze 2Raelad 740
2 519
Al 221

ZofelYdRiel X (LeraEdRiel) 480,226 504,336 A 24,110
= 240,113
Al 240,113

301 et A3z 480,226 504,336 224,110
= 240,113
Al 240,113

01 MeI28E+06l= 480,226 504,336 224,110
OFHel Lt LRl ALY 480,226
= 240,113
Al 240,113




2N
X ZH -
L= B

el

NEE
ZOHQIOl &rol B a4

Zojol AUBH

!

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
ZojoIYRiel NA(=SXLRel) 158,760 169, 440 A 10,680
= 79,380
Al 79,380
301 et a3 158,760 169, 440 210,680
= 79,380
Al 79,380
01 Ml2ZHE 6= 158,760 169, 440 A 10,680
O&ofel =XLXtel At
378,000& x120H & x35H 158,760
= 79,380
Al 79,380
st XS M 3,130 6,268 A3,138
201 Let249] 3,130 6,268 A 3,138
01 At 22/l 3,130 6,268 A 3,138
OZMAXNSXH HEXNS M 3,130
ZONCIEHOIAE ANZAA O] 400 400 0
301 LtE L= 400 400 0
MIIEBESS 400 400 0
OFHAEHAAE AHFZAIRA Kbl
20,000& x2ZH 103 400
Flields =0 K= 3,574,357 3,431,814 142,543
= 2,502,050
Al 1,072,307
301 et a3 3,574,357 3,431,814 142,543
= 2,502,050
Al 1,072,307
01 MI2ZE 6= 3,574,357 3,431,814 142,543
OFelA=z 3,574,357
= 2,502,050
Al 1,072,307
= (Ix) X2 617,614 549,924 67,690
= 432,330
Al 185,284
301 L2 A Z 617,614 549,924 67,690
= 432,330
Al 185,284
01 MEIBZE 2063 617,614 549,924 67,690
OFM==(IN=x) 617,614
= 432,330
Al 185,284
Zo=g(HaAs) X2 358,014 351,014 7,000
= 250,610
Al 107,404
301 L2 A Z 358,014 351,014 7,000




AN ALEI =X

Ha: FHOHOIo MOl B Sa

el Zojol AUBH (el:de)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

= 250,610
Al 107,404

01 ALl EE E 563 358,014 351,014 7,000
QXM= (Xtatsl) 358,014
= 250,610
Al 107,404

ZOHQ Me+< 180,000 180,000 0
Al 180,000

301 L2 AF 180,000 180,000 0
Al 180,000

01 MEIBEE 53 180,000 180,000 0
OO &< 180,000
Al 180,000

Foperelzgl XA 200,638 182,400 18,238
= 160,510
Al 40,128

308 XXX SO0 200,638 182,400 18,238
= 160,510
Al 40,128

10 SO 2 SOICHE B & X 2 E A HI 200,638 182,400 18,238
O&oele=zdl XI& 200,638
= 160,510
Al 40,128

HASEC Mt L HAH XI& 5,600 5,800 A 200
= 2,800
Al 2,800

301 L2 A F 5,600 5,800 A 200
= 2,800
Al 2,800

01 MEIBEE 2063 5,600 5,800 A 200
O&oel S5 & 5,600
= 2,800
Al 2,800

ST SSHE At HI 4,000 4,000 0

307 21201 A 4,000 4,000 0

11 AMISIAEES 4,000 4,000 0
OZSZSZMUIIF? REHE A 4,000

ORI L Riel KA (Al2FM L Xtiel) 86,436 0 86,436
= 43,218
Al 43,218

301 gt 4= 86,436 0 86,436
= 43,218
Al 43,218

01 A3l EE E 56l = 86,436 0 86,436




D AEIE XD
=YV LIE-TRPNE-TRE I3

= oo

LB AABH

=

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o e 2
OFOHA LRl X2 (AlZH L Xel) 86,436
= 43,218
Al 43,218
ol BSXAZ0H NAJSA) 9,844 0 9,844
= 6,891
Al 2,953
307 21201 A 9,844 0 9,844
= 6,891
Al 2,953
11T MISRAASEX 9,844 0 9,844
OZHe EsXNIS0H N (Jta=0) 9,844
= 6,891
Al 2,953
HOHQIEHOIAlE AEH &X A 63,692 0 63,692
Al 19,108
2 44,584
101 @124l 63,212 0 63,212
Al 18,964
= 44,248
04 JIZHHZ2XNSE+ 63,212 0 63,212
OFMHAEYAIL H=Z AR 21244 63,212
Al 18,964
2 44,248
201 24l 480 0 480
Al 144
T 336
01 At 22l 480 0 480
OHMABEAAE H=XZ A X& 480
Al 144
- 336
LLHOHAAAINL AL 4,680 0 4,680
201 et 1,680 0 1,680
01 At 22l 1,680 0 1,680
OLG T NAAJAS g g 1,680
307 gl2tol & 3,000 0 3,000
11 ALSI S RAEE = 3,000 0 3,000
OZLHOM AAIPLAMY X 3,000
a Q2 Ul (ArS = XDt 86,644 83,686 2,958
2l 86,644 83,686 2,958
=2l 86,644 83,686 2,958
201 ¢er24| 16,264 14,356 1,908
01 At 22l 16,264 14,356 1,908
OSMEXN 20,000 60 A 1,200

_20_




S A AL ST
M HNY2AAH| (A3 =X D)

¢l =gl CEE-ED
SA - BB B () - MM - BES Ol &t o San HmEET
OEUZYHI 2,680
—ZeH 176,000 »3CH 33| 1,584
-dZed 274,000 3 x4 44 1,096
ORM2Z JlE+8H| 10,000& = 18H 122 2,160
OAlZtel 22X S4lH|

8,000& *5.541x18H x 128 9,504
OtER=ER 15,0002 x45 +12& 720

202 o4dl 60,480 60,480 0

01 = LH o4 4l 60,480 60,480 0
O2 Lo dl 280,000& x18H x12& 60,480

203 YR =] 6,900 7,500 A 600

01 JI22H S F=AH 3,300 3,300 0
SELIEWET 3,300

04 EAN2IHR2F=EHI 3,600 4,200 A 600
ORAM2IYRFLHI 3,600
- && 209 Olat 300,000& »12& 3,600

405 XHoHF S HI 3,000 1,350 1,650

01 AL EZFH S 3,000 1,350 1,650
OZctZgE)l 7Y 3,000




